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BIOLOGY ﬂC—-II
SECTION — A (Msks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section g to be answered on the question paper itself.
It should be completed in the first 20 minutes handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carsies one mark,

(i)

(iv)
(v)

| (vi)

(vii)

(vili)

(ix)

(i)

(xii)

Breathing rate is controlled by respiratory center In the brain which is sensitive to the concentration of:
A Oxygen in air B. Oxygen in blood

C. Carbon dioxide in air D. Carbon dioxide in blood

Lungs are covered with double layered membranous sac called:

A Diaphragm B. Ribcage C. Peritoneum D, Pleural membrane
What passes through the membranes of arkidnoy machine (dialyzer)?

A Water and urea B. Water and proteins

C. Protein and red blood cells D. Urea and red blood ‘cells

The system which prepares the body to deal with the situation of fight or flight is:

A Parasympathetic nervous system B. Sympathetic nervous system
C. Somatic nervous system ‘ D. Sensory nervous system
The non-myelinated points between the areas of myelin on an axon are called:

A Node of Ranvier : 8. Synapse
C. Neuroglia ' D. Schwann cells
Which of the following is NOT a part of axial skeleton?
A Sternum_ B. Hyoid C. Pelvic girdle D. Vertebrae
Bryophyllum undergoes vegetatlve propagation through adventitious buds present on;
A Margins of leaves | 8. . Nodes of stem
C. Lamina of leaf ‘ D. Ti‘ps of roots
In double fertilization, endosperm nucleus is formes by fusion of a sperm with:
A Egg : B.  Fusion nucleus
C. Macrospore . D. Microspore
When in the heterozygous condition one allele masks the expression of the other, it is called:
A Homozygous ' B. Recessive - c. Heterozygous D. Dominant
~ An air pollutant which can cause acid rain is/are: _
A Dus.t'particles : B. Lead compounds
~C. Sulphu.r dioxide D. Smoke
Which of the following reaction shows the correct sequence of events of fermentation in bacteria?
A Glucose — Pyruvicacid —»  Ethano! + CO,
B. Glucose —® Pyruvicacid —  Acetaldehyde — Ethanol + Cco,
C.  Glucose —» Pyruvicacid —»  Aoetaldshyde —»  Lactic acid
D. . Glucose —» Pyruvic acid —»  Laclic acid
The drug applied on wounds to stop bleeding is:’ - .
A.‘ Siiver nitrate  B. lodine C. Sulphadrug - D. " Codeine
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BIOLOGY SSC-

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any e questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and leglbly. :

SECTION — B (Marhg 33}
Q.2  Answer any ELEVEN parts. The answer to each part sheald not exceed 3 to 4 lines. (11x3=33)
Q) How does gaseous exchange differ in leaves during day and night time?
(i) List the structural features of nasal cavity and write the function of each one of them in breathing.

(i) Define Xerophytes. Write about their osmotic adjustments.
(iv) What is selective re-absorption? How does it occur?

(v) Write the functions of following parts of brain:
a. Hippocampus
b. Medulla oblongata
c. Hypcthalamus

(vi) Name the hormones of Adrenal glands and write their functions.
{vii) Differentiate between Osteoporosis and Osteoarthritis.

(viiy  What are the advantages of Vegetative propagation in plants?
(ix) Write only one difference between:

a. Self and cross pollination
b. Prostate and Cowper's gland
c. Epigeal and hypogeal germination
(x) Prove that expression of AB blood group is an example of Co-dominance.

(xi) How does DNA work?

(xiiy  Define food Web. How is it related to food chains?

(xi#)  Write the causes and effects of Global Warming.

{(xiv)  Enlist any three achievements in the field of Genetic Engineering.

(xv) Name the major groups of antibiotics and write the diseases against which they are used.

SECTION — C (Maslig 20)

Note: Attempt any TWO questions. All questions carry equal marks. Also draw labelled diagrams where

necessary. (2 x10 = 20)
Q.3 a What are kidney stones? Write about their causes, symptoms and méthods of treatment. (1+1+1+3)
b. Give a comparison of external and internal fertilization. (04)
Q4 a Write a detailed account of structure of eye. (08)
b. What are narcotics? Give two examples. (02)
Q.5 a Define Symbiosis. Describe its types. (1+6)
b. State some salient features of Bone. (03)
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BIOLOGY SSC-li
SECTION — A (Mashe 12)

Time allowed: 20 Minutes

NOTE: Section-A Is compulsory. All parts of this section am 0 be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead penell.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) A large muscle that separates the chest cavity from abdominal cavity and helps in breathing is calied:
A Larynx B. Diaphragm C. Pharynx D. Intercostal muscle
(i Gaseous exchange in young roots occurs through:
A, Lenticels B. Cuticle C. Stomata D. General surface
(iii) Which of the following features of skin DOES NOT help in thermoreguiation?
A Thin layer of fat cells in dermis B. Goosebumps
C. Oil glands D. Sweat glands
(v} The three semi circular canals and vestibule of inner ear are responsible for:
A Balance and Posture ' B. Hearing
C. Thinking ability D. Directing air into ear
) Which one among these contains many dendrites but only one axon?
A Sensory neuron B. Motor neuron
C. Interneuron D. Both sensory and motor
(vi) Which cartilage is found at the enas of long bones?
A inelastic B. Elastic C. = Fibrous D. Hyaline
{vii) Petals of the flower collectively form the whori known as: '
A Calyx B. Coroila C. Androecium D. Gynoecium
(viii)  Binary fission in bacteria involves ali EXCEPT. _
A A Spindte formation. B. Division of cytoplasm
C.  New cell wall formation D. DNA duplication
(ix) The genotype having two identical alleles for a trait il known as:
A. Mono hybrid  B. Di hybrid C. Homozygous D. Heterozygous
(x) Which sequence correctly describes the flow of energy in an ecosystemn? |
A Carnivore —p herbivore . producer —y solar energy
B. Carnivore — producer —» herbivore —p solar energy
C. Solar energy —pcarnivore —» herbivore —» producer
D. Solar energy—» producer — herbivore — carnivore
{xi) The initial step of carbohydrate fermentation and asrobic respiration is same. It is:
A Acetyl CoA synthesis B. Electron transport chain
C. Glycolysis : D. Kreb's cycle

{xii) The white blood cells which recognize the weekend or dead pathogens and start producing antibodies
against them are:

A T-lymphocytes B. B-lymphocytes
C. Neutrophils - D Monocytes

For Examiner’s use only:

Tetal Marks:

Marks Obtained: |
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BIOLOGY @S8C-II

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two guestions from Section ‘C’ on the separately
provided answer book. Use supplementary answer shest I.e. Sheet—B if required. Write your answers
neatly and leglbly.

SECTION — B (Marks

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=233)
(i Write the causes, symptoms and types of bronchitis.
(i) How does trachea divide to form different air passagewsys to reach alveoli?

(i) Name and define the processes which remove extra weder from plant body.
(iv) State some problems associated with kidney transplamt.

(v) Write only one difference between:
a. Receptor and effector
b. Cerebrum and cerebellum
C. Rods and cones
{vi) How do the hormenes of pancreas maintain the blood ghucose level?

(vii) Write the names and the number of important bones of appendicular skeleton.

(vii)  Why parthenogenesis is considered as a form of asexusl reproduction? Explain briefly with the help
of a suitable example.

(ix) Draw a labelled sketch to show the process of spermatogenesis in animals.

(x) Enlist the steps of DNA replication.

(xi) Write any three sources of variations in sexually reproducing populations.

(xii) Define:
a. Decomposers
b. Nitrification
c. Greenhouse effect

(xii)  What is eutrophication? How can it affect the life in a water body?
(xiv)  Write a short note on significance of single cell proteins.
(xv) Give the sources of following drugs:

a. Digitalis
b. Morphine
c. Penicillin

SECTION —- C (Marks 2D)
Note: Attempt any TWO guestions. All questions carry equal mesks, Also draw labelied diagrams where

necessary. (2 x 10 = 20)
Q.3 a Explain the structure and function of nephron. Also drew its diagram. (3+3+2)
b. Enlist the basic steps of genetic engineering. (02)
Q.4 a Describe the hormories of pituitary gland. (086)
b. Explain the working of antagonistic muscles. (04)
Q.5 a Define and explain the Mendel's law of segregation. (1+6)
b. Write some effects of air pollution. (03)
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